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QUESTION 1

You are asked to enable Write Back Flash Cache for one of your customers X3-2 Full Rack in a rolling fashion. Put the
following steps in the right order: 

A. Set flashCacheMode to writeback. 

B. Inactivate all grid disks and shut down cellsrv. 

C. Drop the Flash Cache. 

D. Verify that cell for flashcacheMode is writeback. 

E. Create the Flash Cache. 

F. Start up cellsrv and activate all grid disks. 

G. Check grdidksk asmdeactivationoutcome and asmmodestatus for all grid disks to ensure that all grid disks on all cells
are set to Yes and online, respectively. 

A. G. B, C, A, F, E, D, and G 

B. G, A, B, C, F, E, D, and G 

C. G, C, B, A, F, E, D, and G 

D. G, E, C, B, F, A, D, and G 

Correct Answer: C 

 

QUESTION 2

When running OS Watcher, which two data outputs are valid for Exadata storage cell performance analysis? Select the
two correct choices that apply? 

A. lostat 

B. mpstat 

C. netstat 

D. pkginfo 

E. label 

Correct Answer: AC 

 

QUESTION 3

Which Exadata feature eliminates unnecessary data transfers between database nodes and storage? 
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A. database views 

B. InfiniBand networking 

C. Flash Cache 

D. high performance SAS2 disk drives 

E. cell offloading 

Correct Answer: C 

 

QUESTION 4

Your customer wants to increase the size of the DATA diskgroup on the Exadata systems. The customer is currently
using 600 GB disks. Which two are the best options that you would recommend? 

A. adding a High Capacity Storage expansion rack 

B. expanding the Exadata rack from a Half Rack to a Full Rack 

C. moving underutilized grid disks from the RECO diskgroup to DATA 

D. adding a ZFS storage appliance 

E. adding a High Performance Storage expansion rack 

Correct Answer: AB 

 

QUESTION 5

Which statement is true about Enterprise Manager 12c for Exadata? 

A. EM Agents are installed on each database and storage node. 

B. EM Agents should not be installed on Exadata. Remote monitoring is the best practice. 

C. EM Agents can communicate to storage cells via SSH. 

D. The Exadata Plug-In for monitoring switches is installed in each EM Agent. 

E. Storage cells communicate directly to the EM Management Server via SNMP and/or SMTP. 

Correct Answer: D 
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